Noame >~ Date Period
SlG FIGS ROCK! (and so dloes SCIENTIFIC NOTATION)

Rules for counting significant figures Example | # of sig
figs
Digits other than zero are ALWAYS significant. 37.5 3
All zeros between two sig figs are significant. 4006 4

Zeros at the end of a number WITHOUT a decimal point are NOT 307,500 |4
significant.

Zeros at the end of a number WITH a decimal point are significant. | 85.600

Wi

Zeros used for spacing the decimal point are not significant. 0.00970

Rule for determining significant fiqures when adding or subtracting
The result has the same number of DECIMAL PLACES as the least precise
measurement used in the calculation.

Example: 4,77 + 1.0 + 234.0 + 12.0111 = 251.8 round the answer at the 0.1 place because all the added
values go to the 0.1 place

Rule for determining significant figures when multiplying or dividing
The result has the same number of significant figures as the measurement with the
FEWEST NUMBER of significant figures.

Example: 3.22 x 0.094 = 0.30 only 2 sig figs in the answer because 0.094 only has 2 sig figs

Rules on Scientific Notation

1. Any value less than one should have a negative exponent. (0.0395 = 3.95 x 10 %)
2. Any value of ten or more should have a positive exponent. (4402 = 4.402 x 10%)

3. Values between 1 and 10 have an exponent of zero. (8.0 = 8.0 x 10%)

4 When putting a number in scientific notation, use only the sig figs and put only one

non-zero digit to the left of the decimal.

Practice Problems

A. Write the number of sig figs in each value below.
1. 4302 ‘f‘% 2. 1,030 5 3. 2,074,000 4 4. 0.00080 /-
£ . 2,
5. 0.00001 | 6. 367.50 O 7. 0.00320 -/  8.601,500.00 fy

¥

9. 1,570,050 %g 10. 47,000 2~ 11.0.1020 fz 12.2.0390 5

B. Round the following numbers to four sig figs.
1. 798369 . 104 2. 40565 40500
3 32348 L. 55 4. 92,856 129 10
5 083455 0.0 071ly 6. 113,697 15,700
7. 101.009 101 .0 8. 5695239 U, (00D 0l

9.35355 5545 10. 0.056718 0.05(p12




does not néed e si)

Mj{%f
Solve the following and write the answer with the correct number of snggf"gs in

© expanded form. Then, write the number using Sélentlﬂc notatlgn Jy—
1. go1+4a7+56=__ (00| {,9 ?ﬂ xip'

2. 567.18-40.9= 510.%5 5.203% xI0"

3. 78.000+4900+241=__ |07].0 w7xin* .
4. (7.0201-3509) +30022=__ o0 1[.% 5. 013 X0
5. (34.788-209)+©911+13)=_Olp. 0

6. 711x087=_ (o]

7. 12.0x0.0500x430 __ 2lp()

8. 95050x0409 50900

9. 78.00/9.00 1.l |

10.  110.0/55.0 2..00

11, (732.3 x 9,609.4) / 0.0020 =

12, (0.0040 x 1.090) / (3,090 x 99,200 2 N OO O OO O¢

13, 45/(909x10)=_ (.00 )

14, (100+411+0012)/849=__ 0. |

15.  (9.125.8-6.61)/(4.80x 10%=_0. 190

16. (345 —2.1) (3,001) (0.00465) = 4 H00

D. Put the following numbers in scientific notation.

1 2345 2.545 X0 2. 33800 200 ?35@%

3. 0.0000707 _ /.0 [ X (O - 4. 0004050 4050 (0~
5. 6540 (0-04() X10' 6. 00070 910 X(0 "
E. Put the following numbers into expanded notation.

1. 9ax10°__ 1400000 2. 1500x102 ___150. 0

3 f 54 4 310x10° 0. 00510

C4354x10°5 _ 0.00425
™
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